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The ﬁgures in the margin indicate full marks
.. for the questions

L

Answer either in English or in Assamese
1. Answer the following questions as directed :

o 1x10=10
AR So orTYRd s ot : |

(a) ‘If one of the premises is false, then the
conclusion of the argument must be _

(F111 in the gap with either ‘true’ or

false’)
B e T wPTe X' YR Frare
I _
C(STer A1 “spTer’ TEAIX 91 O o F9)
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®)

(c)

(@

(e) 7

(2)

Who wrote the book, The Mathematical
Analysis of Logzc?

The Mathematical Analyszs of Logic s{

AR @I ARkfRe 7

Who used the word ‘quantifier’ in logic for
the first time? :

e quanhﬁer WBI R IR
IR FRMF 2

What is the ° ’fifst elementary valid
argument form mr Rules of Inference?

TR Arem fete @wﬁr A% e -
R4 IR wwE 2

What will be - the value .of - simple
Propositions if the value of conjunctive

~ Proposition is true?

(9)

‘There are two/three/four terms in a

mewﬂﬁm’&wﬁm’mm
NS J 1 292

Which rule is applied when we conclude
PvQ’ from P?

‘P’ W q o ‘PVQ’ ﬁmwﬁhﬁsﬁw
Mﬂ?ﬁﬁawﬁm

categorical syllogism.
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(Choose the correct answer)
«ﬁn o feeers e o1/ R /eRe ow
W | (= Tehr R Sitvean)

( Continued )

wred

0

(3)

'Name the figure of the syllogism in which
.DARAPTI is. found as a valid mood.

WWWWWWDMI

O RY R )

)

0

2. Answer the following questlons in brief :

‘Symbolize the proposmon ‘Socrates is
mortal’ according to the rule of predicate

loglc ) . B ]
e o$RwR AT ST ‘Socrates is
mortal’ ?IWZ'BH 31@@ o a0

How an illicit ma_]or occurs?

Y MG (T (ICACF oS T ?

o SPPTRR B T B

(@)

(b)

(c)
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‘Syllogism’

5
What is ‘Reductio ad Absurdum’?
A e A z{m ?

How do you prove that Hypothetical
"(H.S.) is a vahd form of
argument? ;
‘ARBT TR T GO QY W URE, FER
o1 R 2

Mention a suitable example of general
proposition using quantifier.

R I[YY IR NGRS A BRI
eSO Rt
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(4) (5)

{d) -How™ msny figures are in syllogism? (c) Explain - the -role of Middle -term~
- Identify- the* position of Ma_]or terms in syllogism. o
-~ Second figure. - . o - S . TS (RPAE WWW |
TS D! i wex 7 8 g e (d) What is Individual constant and
TRffaT L Individual variable? Write down the
(é)' Draw AV Dk B on . differences between them.
o enn Diagram on ‘E’ proposition. TIfes fAge oI & AR T [ 2 IfS Fge
E’ 35719 coAoq e 391 | ‘ WWWWW’HWWI
' R . (e What are De Morgan’s Rules? '
3. Give short answers for the followmg questions ' De Morgan’s FIYGIR 2
(any four : - 5x4=20 -
©eq () What is Mood? Place any two valid Moods
PP -q%m T (R G SIRG) . of the Second figute.
(@) What' is ‘Indirect/Shorter Truth Table Remt w3 7 a8 orcee R e o o
Method? Explain the procedure with a ﬁ’“"‘ &\'n“'l‘EPF{W| v

proper example. ‘
4. Explain the rules of categorical syllogism. 10

ﬂmvﬁﬂﬁv%ﬂwmmwm fACoPs e fATaRE 0 900
v W ! or/ 373?1
@) 'vae- the _._followirig; arguments using Prove the followmg arguments by the rules of
rules of Inference : L formal proof of validity : 5+5=10
JvEv~L). - . © RHOR SIRIR NI W ST i RN (I
~K Ji~L-~K - o1 90 :
WWWWWN‘TW ) (AvB)>(C-D)
JVviEv~L) - S (DvA>DF/.ADF

~K [.~L~K M Z-5A

~AvB [~ Z>B
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5.

(6)

Wh-at. is -quantifier? Distinguish between
Universal and Existential quantifier. 4+6=10

RAT T B2 R ERE ARTIR TR
N et =11 ‘

Or/ i3y
How" man

aow y valid moods are there in Third
gure? Explain with examples. 10

PO SicEETS Ry
T ha.mmw? RIGESRE] W@'

zlrﬁ:z _do  you .mean; by - Aristotelian
sy Sitions? Quantify A,E,I,0 according to
S of predicate logic. 4+6=10

qﬁ@i‘%mmﬁﬁ?t

Prove ihe

existentiny - following arguments using

d universal instantiation : - 10

T ONE ST W e g

U ]
0 (x)(cx> Dx)
(x) (Ex o~ Dx)/ - (x)(Ex >~ Cx)

@) (x)(Dx o Cx)
(3x) (Ax- D)/ - (3x) (Ax- Cx)
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( Continued )

‘7.
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(7)

Prove the validity or invalidity of the following
arguments applying the rules of Venn
Diagarm : o 5+5=10

(a) All animals are mortal.
All men are ammal
~. All men are mortal.

() All men are mortal.
No angels are men.
- No angels are mortal.

—

cobas PR et +R e fixt e B cwe
1 SHILST AT 1 ¢

(a) TR AR = TN |
SR TR W A
. TG TR T TR

(b) W‘IFR‘& T |

R (TS =Y R
. CRCA (AT 72 TR

" ( Turn Over)




(8)

Or / M3l

r.]Pm-v.e that the following Rules of Replacement
are tautologica] : 2%x4=10

(@) Materig] Implication
(b) Transportation
(©) Commuytation -

@ Tautology

TS g
2T 517

@) ftm I
) @ e g
(©) ¥ ffizer SR
@ Fosir 3

S (G S —

* &k
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